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opA A—H— i BAAT FEMKE | RESHE | REEE | =% =i IPv IR | RGHEEHE| theE (RIGHESE|  #HS
77 A/VEfR
1 |[Fa—T7774A40 (=Y A R) 3em A4S =73 |7-RTK630NB |4 (10ffFA) 8,170 5,160 = ~% 5,160 Rk 5,500 5,780 5,182 5,560
2| Fa—T7T7740 (=2 AR) bem A4S @73 | 7-RTK650NB |4 (10fiHA) 9,210 5,780 =i ~% 5,780 SIS 6,100 6,510 5,823 6,250
3| Fa—T7T77A4 (=2 AR) 8em A4S =73 |7-RTK6SONB |4 (10ffFA) 10,450 6,700 =3I~ 6,700 Rk 7,000 7,520 6,732 7,202
4| Fa—TT774L (=2 A R) 10cm A4S @73 | 7-RTK6100NB |4 (10fiHA) 11,990 7,530 = <% 7,530 SIS 8,000 8,470 7,586 8,125
5 %1—7‘774’/V (==Y A R) 8em A4 = @739 | 7-RT685B NCEYN) 7,430 2,770 =L ~% 2,770 FEIR 2,900 3,320 2,777 3,034
6 |ife T HOAZHE (A 4] ST450 25X Ny &) |AMSEL iE5em | &L (201A) 12,520 8,770 =1 ~% 8,770 LEaEs 9,800 9,640 8,947 9,470
7 [ & BOARME (A 44]) ST480 25T Ny B Jp |AMSEL A5IESem A1 (20fHA) 13,880 9,700 =3 <% 9,700 REIR 10,800 10,660 9,894 10,480
8 | X MAFRML (A 4H]) ST4100 25X g 571 |AASHY A5 10em |41 (20fFA) 15,110 10,515 =~ 10,515 REIR 11,800 11,570 10,736 11,400
9177y 774NV (BHiERE CE) MZT a5 |7-V10 B-G-M-P-Y [4¥ (10fftA) 26,400 15,180 =y~ 15,180 RER 15,900 16,830 15,450 18,600
9 —F
1|7 —H9 h— K04 (77 AL az3a V%8N % QK 2R 3,500 2,300 FHSCHEE 2,390 REIR 2,350 2,450 2,300 2,750
2 |7 — (I h—K04) (Z7ANH) az3  |[2%-60 S (% BUIOKA) 8,000 5,310 #h3CHL 5,530 LEaEs 5,500 5,670 5,310 5,750
By 7 AE - [TEK
1| #v 7 AE()—FEAF) T4mmX 105mm a3 |A-10008-6-P-Y |[F (10552 A) 14,650 9,260 #h3CH: 9,845 REIR 9,750 10,950 9,260 10,000
2|7 AE()—"ZAT)  T4mmX 74mm a3 |A-1001-B-G-P-Y |4 (105527 A) 13,500 8,055 AHICHE 8,610 FEIR 8,500 9,500 8,055 8,900
3|F 7 AE(/)—FEAT)  T4mmX 52mm 279 [ A-1002B- G- P Y |H (10592 A) 10,200 6,165 iU 6,550 R3S 6,500 7,250 6,165 6,950
4 | By AERTEXAT) 74mm X 25mm 2739 [ A-1003B-G-P Y |F (105927 A) 10,200 6,165 HiCE 6,550 LEaEs 6,500 7,250 6,165 6,950
5|7y 7 AEUTEXAT) 74mm X 12. 5mm ay3a |2-1014 #1059 A) 13,500 8,055| iU 8,610 Rk 8,500 9,500 8,055 8,850
6 | X AT v AFKT L) a3 |52 BeR |5y 2 01680 550 340 =3 <% 340 SIS 375 375 350 400
TN I AT w7 AGKRT L) ayz3  |#-21 B-R |/8v2Z (12040 550 340| =~ 340 B 375 375 350 400
BIRAM v PR Va—TA Ty 7 A xa /Xy 7TM[3M 68211k 25 %508 | 45 (504 X 20) 12,900 8,095 =i <% 8,095 SIS 8,500 8,530 8,165 8,875
9IFRAR vy PR Va—TA T v I A a2y 7TH|M 6821-12-RB 265 45( | 45 (504 X 10) 12,250 7,650 = =% 7,650 B 8,000 8,065 7,720 8,425
0|RAR Yy FRAZH =R Y —X  (50mmX 15mm) |3M 700RP- () 5 (LofEA) 19,500 12,215 =3 ~% 12,215 LEaEs LEaEs LEaEs 12,330 13,500
IL[E A - PR T a—TFERARLHL == /3y 70 6iRE [3M 6831M Hi (204X 6 10) 12,400 7,795 =v <% 7,795 B 8,150 8,220 7,870 8,975
128 Ab < f9hR) YV a—TBHRHL == /3y 7N 9faiRe |30 6801MS i (20 #cxotx 10) 16,550 10,385 =3 ~% 10,385 REIR 10,850 10,950 10,480 11,625
B{ARAML Y N FIA N (R 3M TOORP-WN 97 (100K 5) 1,950 1,225 =y ~% 1,225 FER 1,300 1,290 1,225 1,475 |fhigE2-1
Ry — TR EER

1 [ARUA MR—=Rv—D— (KF) S TH |EMWLEN-(f2) |4 (10K A) 9,900 5,910 = ~% 5,910 REIR 7,000 7,100 5,960 6,550
2 | T L0 ORYGE R AR |LG-KEAHB H#—2 (12K ) 1,950 1,278| =i =% 1,278 LEaEs 1,380 1,377 1,281 1,578
3| —T X (VA AH) Y77 |[KRM-100-BK F (10AN) 4,000 2,545  #3THE 2,555 R3S 2,700 2,750 2,545 3,050
4 |R—=_y (P v 7UK) P75 YA v IUKT|H (10AN) 4,000 2,545  #3CHE 2,555 LEaEs 2,700 2,750 2,545 3,050
5 | AR — LB Y75 |RUKT-BKUK-0.78) |5 (104 A) 4,900 3,050| S 3,070 REIR 3,300 3,300 3,050 3,690
6 |V=y FARY—2A 3AKR—/L22 0.5mm ZHENEE |SXE340005-24 EN 6,600 4,140 =3 <% 4,140 REIR 4,800 4,800 4,320 5,000
T2y FARY—24 3AR—LL 0.5mm FH TZEBNE |SXRS005-(f2) |4 (10AA) 3,550 2,170| i3 2,395 REIR 2,400 2,400 2,170 2,475
8 |# Ry (AT T v 7 A2 E) Y7 WKT11- (¢2) % (10ARN) 8,000 5,110] = ~% 5,110 REIR 5,500 5,500 5,140 6,000
9 |k~ (V) I MYTT- (f2) B (L0ARN) 2,460 1,548 = ~% 1,548 REIR 1,800 1,800 1,641 1,860
10|x=FhR—n 7/ /v Z7x 0.5m UN T |UMN-105EW-(£2) /N 9,900 1,560 = =% 1,560 REIR 1,800 1,800 1,620 1,800
lHlz=Ar— vZ7 /7 /7v73« 0.56mm L |UN I |[UMR-85N-(fa) |# (10&AY) 3,300 2,100 =3 <% 2,100 RIS 2,400 2,400 2,190 2,450
R22(vyF— M~ F—FT ODEXFAT) Y75 |YYT5- () % (10AN) 3,660 2,343| = <% 2,343 REIR 2,520 2,580 2,388 2,730
Blvy¥— (vyX—F 7Tl SOFEX¥A7) Y75 |YVTS5-(f4) B (10ARN) 2,940 1,878| = ~% 1,878 REIR 2,040 2,070 1,890 2,130
14[iEL =5 MONO PE-04A 23X 55X 11 i 1,600 1,000 =i~ 1,000 A1 1,100 1,040 1,000 1,180 |fhig&1-1
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A KL A F
FERKG HMSEE FUHEESS  FEOLW: FHEHMEASTE  WASIT RIS SG
opA A—H— i BAAT FEMKE | RESHE | REEE | =% =i IPv IR | RGHEEHE| theE (RIGHESE|  #HS
TR — Vs FIR—FT 4V A
1 |F~vs—n A 10/ DUH4 Efs =17 28387 50. smx 86, 4mn| 5E (2045 ) 5,050 3,600 = <% 3,600 RER 3,650 3,665 3,675 3,940
2 |7~ vv— M 12l AR A 17 o |28382 42. 3nmx 86, 4m| 48 (20K A) 5,050 3,600 =i~ 3,600 LEaEs 3,650 3,665 3,675 3,940
3|T7~urv— AH 18 R TF4&AfRt 17 o |28384 42, 3mmx Tomn | 48 (20K A) 5,050 3,600 =i~ 3,600 TR 3,650 3,665 3,675 3,940
4 |FL—v MM 21T T — 1 |28383 42, 3nmx 70m | 48 (20K ) 5,050 3,600 = <% 3,600 SIS 3,650 3,665 3,675 3,940
5T~ —L ALH 24/ ETF&BERT 17 |28386 33. 9mnx Tomn | 48 (20K A) 5,050 3,600 =i~ 3,600 FER 3,650 3,665 3,675 3,940
6 |T7UL—b A J—Hh v NEAT T — 1 (28100 210mmx 207mn | 48 (20K ) 4,500 3,015 = <% 3,015 I 3,050 3,060 3,070 3,340
TV arFYra&U—7ugo00 [V A AL A [T 2 |es172 42, 3mx90. 20 45 (100K A) 4,060 2,739| = <% 2,739 FEiR 2,780 2,786 2,796 3,001
8|FI%—FrT7 4L MYPAX =17 I |R2KLM-F216303-20 [/S» 7 (204 A) 48,500 29,000 Vv IR 29,400 BEIR 29,000 39,500 31,250 34,900
9|FIFx—hF T4/ ASHA R =7 9 |RZKIM-F303426-20 | /< 7 (20K A) 35,800 20,200 VP rA 20,440 BER 20,200 31,800 21,720 24,700
10| F7 4L BaAYA R 217 = |KLM-F267375-20N [ /5> 7 (20K A) 2,720 1,644 #H3CH 1,980 LEaEs 1,980 2,330 1,644 1,900
1| Bo—v—F—&A s Y=y MNIET L (FHIBN®E247) |27 3 [kee-ski10-20 10 | 45 (2080 A) 4,860 3,000| I¥vrA 3,018 31, 3,000 3,570 3,156 3,513
12(FF—v—HF—&A 7 Vxy PRI L (THBNED247) |7 3 |kee-skiiz-20 12 | 43 (208 ) 4,860 3,000 Iy rA 3,018 TR 3,000 3,570 3,156 3,513
13| WT—v—F—&A 7 Ve MNIET L (FHANEEE47) |27 T [Kee-skiza-20 24 | 45 (2080 N) 4,860 3,000| I¥vrA 3,018 31, 3,000 3,570 3,156 3,513
TTIIT—7
1| 7777—7  6m %275 |6mm 1 8,500 6,330 IYvZA 6,340 REIR 6,330 6,400 6,640 7,250
2| 7777 —7  9mn %2725 | 9mm 1 8,500 6,330 IYvZA 6,340 REIR 6,330 6,400 6,640 7,250
3| 7777 —7 12mm *> /v 4 |12mm 1 8,500 6,330| IYvZA 6,340 REIR 6,330 6,400 6,640 7,250
4 |77 77 —7 18mm %2725 |18mm 1 11,800 8,550| Y v/ A 8,580 REIR 8,550 8,670 9,000 9,570
57777 —7 24mm %2 /Y 4| 24mm 1 11,800 8,550| Y v/ A 8,580 REIR 8,550 8,670 9,000 9,570
6 |7 77— BEELE x> 790 [12mm SS12KW 1 9,300 6,900 Ivvr* 6,970 TR 6,900 6,970 7,230 7,830
I A & - T — 7 B

1 = 2 (RI6804< ) o279 |3 A-16N el 1,650 895| =v ~=x 895 LEaEs LEaEs LEaEs 1,120 1,175
2 |Er7—7" ME18mm X £&35m =F /R |CT405AP-18 |/3v7 (10%N) 5,500 3,305 = <% 3,305 FER 4,100 4,110 3,335 3,950
3 | AT 47T —7 BE18mm X £&X50m 3M 810-3-18 5 (10&N) 37,500 23,500 =i <% 23,500 LEaEs 26,250 26,500 TR TR
4 |27 7 T —7 (VY A7V ATHE) =F/3(3185-50 % 26,000 13,700 =3 <% 13,700 REIR 15,500 15,500 13,950 17,750
5 |\ L7 —7 (kT —7) (F4EPET) =F/3[150-50 S 32,000 16,700 =3 ~% 16,700 LEaEs 19,000 19,100 17,000 21,000
6 |BAEHT—T (wRIFA T —) TR AA [NT30X04 ik & 19,500 12,900 | K B5FH514% 12,950 REIR 13,000 12,900 15,000 995,000
T |1BERT—F (AT T —T) B AA [NT30N04  fiF K 19,500 12,900 | A b5 F 1514 12,950 LEaEs 13,000 12,900 15,000 995,000
8 | EHMREHT—7 3M 375SN & 9,200 & — EaEs TR TR TR TR TR
9 |BIARST—7 A4H fastback [NARROW 55 (1004 N) 90,000 71,955 #H3CE: RIS RIS RIS RIS 71,955 72,000
10 |BUKST—7" A4H] fastback [MEDIUM FE(100AA) 112,500 86,350| i REIE REIE REIE REIR 86,350 93,000
11 (BT —7 (RKIEZLAETH) zi79 | T-F435N 6B N) 37,600 23,000| Y7 A 24,370 LEaEs 23,000 28,200 23,790 26,410
12 |BURT— 7" GEREZETH) 273 |T-F450 5 4,300 2,675 I¥vrA 2,735 FEBIE; 2,575 3,200 2,725 3,385
L3 |WT —7FAARZYITM —fKZAT =T e siommxaon w0 | F (10 A) 10,500 6,669 =~ 6,669 LEaEs 7,050 7,140 6,798 7,470
4|\ WE T —FARZYITM — R F A =F N s wis | F (108 A) 14,310 9,090| =y~ 9,090 REIR 9,750 9,840 9,273 9,930
15 [ & O (L —R &) % ZA |R-550(4) % 2,070 1,176 | K355+ 1,176 LEaEs 1,200 1,176 1,500 5,700 |fhi3e2-1
16 [ 230U (R 7 X AT) ayg [V—157 Fi(1048 ) 10,500 6,219| =3 <% 6,219 REIR 6,570 7,380 6,444 7,050
17 [fkZ LY ~NTA|7TF—12 2%92(1,0004 ) 4,020 2,526| i SCEE 2,532 RIS 2,790 2,784 2,526 2,949
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A KL A F
FERKG HMSEE FUHEESS  FEOLW: FHEHMEASTE  WASIT RIS SG
opA A—H— i BAAT FEMKE | RESHE | REEE | =% =i IPv IR | RGHEEHE| theE (RIGHESE|  #HS
DY -EEM &
1 |EET 78y 22gX10K ¥~ b |YS-22-10S 257 (104K N) 8,000 4,570 =T <% 4,570 R3S 5,100 5,150 4,660 5,080
2 |ma3a7 Iy s flifH  400ml Y~k |E-NA-960 F (BARN) 13,700 6,095 HhSCEE 9,190 LEaEs 9,150 9,285 6,095 10,320
3|77y ¥~ b AH A — K 50ml Y~ bk [E-NA-150 B O(30ARN) 13,740 9,183 =Y <% 9,183 REIR 10,110 10,260 9,375 10,320
4 |7—=70y vy T —7M KK k7R |PN-MS84 i (L0fEA) 9,300 5,598| #h 3T 5,604 LEaEs 6,150 6,210 5,598 6,300
5| 7—70y By hT—7M BHBxTr—7 kAR |PR-MS84 i (L0fEA) 21,700 13,080 =3 <% 13,080 FEIR 14,300 14,500 13,210 14,800
6 [{EIEHR AT 5 |XEZL31-W i (10AN) 12,000 7,242  #HSCHE 7,329 LEaEs 8,400 8,520 7,242 7,770
7T UWEET—7 £/ PXN 2. 5mm X 6m kAR |CT-PXN2. 5 F(10fEA) 14,010 8,121| =Y <% 8,121 FEiR 9,180 9,300 8,286 9,300
8 [(EIET—7 £/ PXN  GEEHAL—RY v 2.5mmX6m| kAR |CT-PR25 % (10fEA) 8,160 4,788| =3~ 4,788 REIR 5,370 5,430 4,833 5,580
7V v 7 Ef%
L|(ZTns U7 () EF & A7) 273 |7 U-J35D B |5vz (ofA) 750 429 = =% 429 LEaEs 450 540 447 576
2| FT N w7 () @R 2 A7) o3 (7 U-]34D B |5v2 QoA 900 501| =y~ 501 FEIR 540 633 525 690
3TN T (R) (EF & A7) 273 (7 1U-]33D B vz oA 1,230 660| =T~ 660 LEaEs 690 834 690 780
4|7V T () FEAD ZAT) a3 (7 1)-3-1 5 (RI1004N) 240 126 = <% 126 FEIR 150 165 135 162
5|20 v (KR) FEAD X A7) az3 (7V-1-1 51 (191004 A) 240 138 = =% 138 LEaEs 165 174 144 177
6 | A—/R=2 U v Z— bk [SC-800/BOX |%i (100fEA) 1,920 1,191 =y ~% 1,191 FEiR 1,380 1,362 1,257 1,512
T\ HFvv 7 () Z— b [GS-500 & 3,900 2,430|  FH3CE 2,430 REIR 2,600 2,580 2,430 2,980 |fhiE1-1
8 | HF v E(H) Z4—F |GGS-5N r— 2 (509 \) 1,230 74| =~k 774 FEIR 900 897 786 1,005
FIE &
L [ TFAEERA (max) o FH MG-40ECY = A 1 1 3,300 2,145 =v <% 2,145 FEiR 2,500 2,475 2,410 2,800
2 |V ¥ TFAEERA (maX) o Fs MG-60ECT = A 1 1 5,350 3,490 = <% 3,490 SIS 4,050 4,025 3,915 4,440
3| TFAAFEOM (HFEA %) X FAs[06-20 oA 1 N 2,450 1,615 =3~ 1,615 REIR 1,850 1,860 1,805 2,250
4 |FEARN A — NIA) FERIR = #4134 [HLS200 A 850 515| =i =% 515 REIR 600 600 545 590
5 |FIEARNLZ— NIAKR) i — Y v S |HLS2 Ry s (A 1,300 775 =~ 775 FER 900 900 815 950
6 | v FNHAL LT E v F o HON-2-(B + K + R) 1 4,100 2,685 =i <% 2,685 REIR 3,050 3,095 3,010 3,250
TV TFNERAE U TEFETRA U F L TS [SGN-40-(B - K + R) A 3,300 2,145 =y <% 2,145 REIR 2,500 2,475 2,410 2,800
NP B os— B
1IN (TEX) Vo rd o XS D73 | H-151 (B D) VN 3,600 1,880 = ~% 1,880 REIR 2,100 2,560 1,960 2,890
2|\ —F ATy F—F A7 FEHER. 7Y 7 fFE) (273 |HA-TNB - D) %N 2,600 1,340 => <% 1,340 LEaEs 1,500 1,820 1,390 2,300
3|\ hwH—TFA 7 HEHN =17 3 |HA-100SN 4r—2 (104 A) 510 264 =1 ~% 264 FER 285 342 273 381
4 | FIRERRE R =7 3 |CL-RG30 VN 3,000 1,660 == 1,660 LEaEs 1,800 2,100 1,710 2,400
Ry FFR « Ry FF A8

1Ry FFA ~ v 7 A|HD-10DFL 1 10,800 7,500 I¥vrA 8,070 REIR 7,500 7,660 8,130 8,810
2 | Ry FFA $t ~ v 7 Z|NO10-1M (2018 N) 7,500 4,405 =3 <% 4,405 REIR 4,900 5,000 4,445 4,950
L |77 Y sz 1 #5v=»2|LR20XJN/10S |58 (1045 A) 5,760 3,483|  HisUHEL 3,489 REIR 4,200 3,864 3,483 3,954
2 |7 vHh ) HLEY H 2T #5v =7 |LR14XJN/10S |46 (104K N) 4,140 2,514 #h3CHE: 2,517 LEaEs 2,955 2,586 2,514 2,817
3|7l R H 3 ~v=v7 |LR6XIN/40S | 4 (404 A) 8,820 5,211| iU 5,217 REIR 6,690 6,174 5,211 5,910
4 |7 vH ) HEEY H 4T #5v =2 |LRO3XJN/40S |58 (404K N) 9,060 5,232  #h3CHE: 5,238 LEaEs 6,780 6,174 5,232 5,934
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HHEF S ASEE FIMES S

HEDOLTR FB M AR

TN IT - RIRFRT 555 4

A AL

i =

4 A—H— A BT FEMKE | RESHE | REEE | =% =i IPv IR | RGHEEHE| theE (RIGHESE|  #HS
OAMER- H
1 |CD-R =zi47¢7 |SREOPP10 sy (10A) 590 430 YA 431 Rk 430 431 430 RER| g 1-1
2 |CD-RW ~ 77 JL|CDRWSOPW-S1P10S | /5> 7 (104 ) 1,530 1,022| K535 1,122 wEI& FEIR 1,022 TR TR
By
1 [f5H v 7 (A7U>=)S 7IZ  |KM-401 6 (20fE A) 1,950 1,224 | K535 1,692 REIR FEIR 1,224 2,112 1,470
2 |[f8yr (A7Vva)M TIA  |KM-402 %6 (201 A) 2,070 1,224 | KRG 551 1,692 TR REIR 1,224 2,112 1,470
3 |[faty s (X7Yya) L 7IZ  |[KM-403 6 (201E A) 2,070 1,224 | K53 551% 1,692 REIR BB 1,224 2,112 1,470
N—A—Ny¥
L|hF—=H—=FU ¥ ¥+ / »|CRG-335BLK i# 102,210 81,090 | KB5S #5H% 95,760 RIS RIS 81,090 85,260 TR
2| hF—=H—FrVU ¥ ¥ /L |CR6-335 (Y- M- C) 1 129,360 102,450 KFHE#5#| 120,900 TR BER| 102,450 107,718 TR
3 |ENY k=R 7 A Fy /o |WT-722 & 4,250 3,840 | KB # % 3,960 LEaEs LEaEs 3,840 4,227 R3S
FTRIA A o
1 [FOkllEg~ A 2 — U z— |7os—rwomso o6n [ 55 (24 N) 15,010 10,840 | A B5 F 1514 11,403 REIR FEIR 10,840 REIR BB
2 |FIRIkgA > o U a— |7vs— oo s |55 (6 A) 17,100 13,400 | KBS #5H% 13,547 RER FEiR 13,400 FEiR REiR
3 |FIEE~ 2 & — RISO  [RE-F I<##-A3 |45 (2AN) 850,000/  830,000| IYvZA BB REIR| 830,000 FEIR FEIR REIR
4 |FOREgA > o RISO  |RE-F O AN 360,000 350,000{ YA TR BEiR| 350,000 TR TR REIR
5 (FIRIEEA > 7 RISO |1 2r21 78R N 3,000 3,000 ITv/=A wEI& wEI& 3,000 wEI& SIS SIS
6 |FIEEA > 2 RISO  |e0A>2F 7552 VN 531,000 501,750| =3 ~% 501,750 TR TR TR TR TR
7 |FIRIEE 1 > RISO  [ebA > 2F v 7> N 192,750|  182,250| =1 <% 182,250 HEIR HEIR TEIR TEIR FEiR
8 |FIlEgA > o RISO  |obf>sF ~¥os ¥iN 192,750 182,250 =+~ 182,250 TR TR TR TR TR
9 |FIIEEA > o RISO  |of>sF f=n— A 192,750 182,250| =i <% 182,250 TR BB BB ) 1)
10 (FIRIEA > 7 RISO  |ebA>2F Z1o VN 192,750 182,250 =+~ 182,250 TR TR TR TR TR
11 (FRRilEgE1 >~ 7 RISO  [FTo>2 7597 Vi 373,000 334,500 =3 <% 334,500 REIR LEaEs LEaEs LEaEs LEaEs
12|14 7%y hAF—7L OR 5068 50008t%34— kU w2 |RISO |67+ Fre v —=sbiis [ % (15,0008 22,800 15,900 =3 ~% 15,900 R3S FaEs FaEs FaEs FaEs
saliih

L|ZA 20— R T~/ |[AB—F 7 (100£%) 48,300 25,470 = ~% 25,470 REIR 37,200 27,900 26,010 REIE
2 |H B R T |ACH] 1008 54| EL (1004%) 2,160 1,280 | K535 1% 1,300 REIR FEIR 1,280 1,340 1,410
3T T AF v U HEER 27 3 | BE-20NT br—2 (154) 950 485 = <% 485 R3S 550 655 535 625
4|7 77 NEHE AR (NO. 499 Sy s (100K0) 2,700 1,080| #h3CE: 1,080 REIR FEIR 1,350 1,080 1,450 |fhigg1-1
5 le=—nsRyF a3 |Z-1 S 7 (24015 R) 900 575| =i~ 575 TR 650 625 595 800
6 [HLod L& ~NTA| /G170 75 27 (10FEA) 750 260 =i =% 260 SIS 500 465 265 410
7 LD LS ~VTA| /) -G271 ATZANLIN] 750 260 = <% 260 R3S 500 465 265 345
8 |BRETHCLIE JLUE & CASIO  [JF-120GT-N i 35,600 16,800 ¥y 7A 17,250 LEaEs 16,800 17,000 17,420 19,800
9 |BRREEERl TurTATy TIAFvIMA o= [#32114 /N 5,200 3,640 = <% 3,640 REIR 3,900 3,920 3,670 4,800
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